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QUESTION 1

New features have been added for the current release of a SUT. 

Which action would NOT be appropriate for the TAE to perform when evaluating the impact on the TAS? 

A. Gather feedback from the Business Analysts to determine if the current TAS will meet the needs of the new features. 

B. Review existing keywords to see if they need to be modified. 

C. Run existing automated tests against the updated SUT to verify and record any changes to their correct operation. 

D. Evaluate compatibility with existing test tools and, where necessary, identify alternative solutions. 

Correct Answer: A 

 

QUESTION 2

You identified a suitable project to pilot an automation tool and planned and conduced a pilot. The pilot has been
successful and tool Is being deployed within your organization, with a plan to increase tool use by the one project at a
time. During this rollout some test processes will be changed slightly to gain additional benefits from using the tool. 

In the pilot project, a small set of manual tests were automated for the first time. You are currently monitoring the test
automation efficiency and this reveals that the automation regime for the tests is not yet mature. 

Which of the following statements is TRUE? 

A. The approach used for deployed this tool is aligned to the standard success factor for deployment 

B. The pilot project should have been critical so that maximum benefits were delivered 

C. The target defined for the project was inappropriate, because the automation regime for the automated tests at the
end of the pilot is not yet mature. 

D. The test process should be radically changed to gain additional benefits from using the tool. 

Correct Answer: A 

 

QUESTION 3

Which of the following attributes should NOT be included in a test execution report associated with a suite of automated
tests? 

A. Summary of the test execution results 

B. System/Application under test and its version 

C. Defect clusters identified during test execution D. Environment in which the tests have been executed 

Correct Answer: C 
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QUESTION 4

The GUI of a Customer Relationship Management (CRM) application has been delivered through internet Explorer with
proprietary Active X and Java controls. This implementation enables rich client capabilities, but specific commercial
automation tools are necessary to automate test cases at GUI of functional test cases. This is to demonstrate whether a
small set of the commercial are able to properly recognize actions taken by a tester when interacting with GUI of the
CRM application. 

Which of the following scripting techniques would be MOST suitable in this scenario? 

A. Data-driven scripting 

B. Keyword-driven scripting 

C. Linear scripting 

D. Structure scripting 

Correct Answer: D 

 

QUESTION 5

Consider a TAS that is going to be deployed for the first time. The TAS requires share resources and run it its own test
environment. The infrastructure for the TAS has been created along with maintenance procedures. It is very unlikely the
TAS will be required to work in other target environments. There is a high-risk that when the TAS is deployed in its own
test environment, a number of existing application will no longer work because of conflicts with the existing shared
resources. 

Which of the following activities would you expect to be MOST effective at mitigating the risk associated with the first
deployment of the TAS? 

A. Testing the TAS for application compatibility issues in the target environment 

B. Testing the TAS for its ability to be implemented in other target test environments. 

C. Testing the TAS for regressions due to optimization that fix non-functional issues. 

D. Testing the TAS for ITS ability to run a shared test environment 

Correct Answer: B 
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